[Ret8R]) 92-5 82 (T) | = P R —4 & 52 (FffE) | 20160408 —

#

MR A SR RG24

PR -
o NA
=R
S HER -
AR o TR -
s R

52 dEHE

L8 A= e

=BT R4 E TR R )
20160408 &}

2016 £ 4 H 19 H

19min
https://youtu.be/DW4jgXIZAQY

bl%ﬁ-%ﬁfﬁ%zﬂ%(i . http://moodle.fg.tp.edu.tw/~tfgcoocs/....

%~ $HE TR
WA TR E, ax+by+cz+d, =0RIE, :a,x+b,y+c,z+d, =0
HYAZ 43 2 S HA B E - EE e TR ¢

(EAEIE BRI T » SRR

{H LR RRTERY R REME (B R

T

(HEEIRIRE ?

> WS Ll

kL



http://moodle.fg.tp.edu.tw/~tfgcoocs/

Haf512.
SRR x —2y+3z+1=0 81 2x +y—52—2=0 AYRC4R >
HiB% (20 —4> DA FEAESE

FHRE 1
Kl x+3y—5z0 =—4 B )x—vy+4z= 3 AYRCLE - HELEH 2x—3y—z=1
= H AV GRS




